(b) A man borrows Rs. 6,000 at 6% and promises to
pay off the loan in 20 annual payments beginning
at the end of the first year. What is the annual
paymment necessary ? '

'SECTION - IV

4xly , find the value of :
y .

8. (a) If ——

_ p +2x A 2y
p-2x p-2y
(b) Ifa b, ¢, d arein proportion prove that ;

(@—cp® _a® ~b> ~ab
(b-dyd g —-cd

9. (a) A machine was purchased 3 years ago. Its value
depreciates at the rate of 10% p.a. If its present -
value is Rs. 94,770, for how much was it

purchased ?

(b) A bicycle was sold at a gain of 16%. Had it been
sold for Rs. 70 more, the gain would have been
20%. Find the cost price of the bicycle.

6 151-15000-(P-4}{Q-9)(16) (4)
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Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

Note : Attempt five questions in ali, selecting one question

from each Section: Q. No. 1 is compulsory.

' a+b 2] 16 2} .
1. () 11‘1:5 ab]=[5 8},fmdthevaluesofa&b.

b) I ::; :;; =l‘11 ;1|,thenwrite the valueof .
(r +1}{x--2) dy
If y="——pc—r, find =2,
© ¥ 0 - T

{d) The side ofa square sheet of metalis increasing at
the rate of 3 crn per minute. At what rate is the
area increasing when thesideis 10¢m long ?

61 15 1-4 5000-(P-4)(Q0)1 €) ' P.T.O.
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(e)

Find simple interest on Rs. 8,000 for 9 months at '

2
— % p.a.
163 pa
() Define annuity due.
(g) If x:y=2:3, find the value of 3x + 2y: 2x + 5y.
(h)" If A's income be 20% more than B's, how much
- percent is B's incomeless than A7
SECTION ~ 1
2. (a) Constructa2 x5 matrix C=[C;] where:
_12i-3j|
Ci;
l)‘ 2
| 43 7
b) If A=[6 5 -8 expressAasthesumof
12 6 (0)
symmetric and skew-symmetric matrix.
3. {a) Prove that:
1 1.9 :
« B 7y |=@-vy-9)@-p
by ya af
| e o -2
(b) Find the inverse ofthe matrix |—1 3 ¢ |[and
| ' ' ¢ -2 1
verify that AA™ =1 .
611 51- 15000~ (P-4)(Q-9)(16) (2)

. Download Study Material from StudentSuvidha.com

SECTION -1l -

4. Write down the derivatives of the following functions:

()

(ii)

G U1+x

(iv)

8. (a)

42+x _
G- ~5x)1/2(3_5y)l/3
(3 5x)1}2

X +4

e* + x2

Write down the derivatives of the folldwirlg
functions : o
0 ; xlogx

i) @Ee+3)?

(b)

6. (a)

b)

2 (@)

§1151- 15000{P-2XQ-2 )1 € (3)

Divide 30'i;ito two paris such their product is

SECTION - 1if

Atwhat rate percenta sum of Rs. 1600 ammounts to
Rs. 1933 after 2 years if interest is compounded
half yearly.

The simple and compound interest on a certain
sum for two years are respectively Rs. 40 and
Rs, 41.Find the rate and the sum. -

Find the amount of an annuity of Rs. 500 payable
at the emd of each year fox 14 years, if money is
wrorth. 5% coxnpoun de d anrwally.

P.T0O
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